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ENGLISH

Read the following sentences and answer the questions that follow. Choose the right

answer and mark it.

We are thinking of accompanying Mitra and his sister on trip to Simla.
(1) our (2) their’s
(3) his - (4) their
of the people left the hall soon after the show.
(1) Most (2) Few
(3) Much (4) More
Either man or nature to control population.
(1) have (2) has
(3) hasbeen (4) have been
The work was badly done and therefore | had to do it all again.
(1) above ' (@ for
(3) over (4) about
The rose flower is the most beautiful all the flowers in this garden.
(1) on (2) between
(3) from (4) of
Nothing can be predicted everything is uncertain.
(1) as (2) even
(3) for (4) dueto
In Spain, women usually hats.
(1) does not-wear (2) do not wear

(3) did not wear (4) not wear

the Pnme Minister of India, | would eradicate poverty.

(1) Iflwas (2) [If ]l were

(3) Iflhave (4) Iflhad

Priyanka is M.A. in English.

(1) a (2) an

(3) the (4) None of these

It is futile to give advice to a person who would not listen to you,
(1) a (2) an

(3) the (4) None of these
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By the time the Chief Guest arrives they _ the cultural programme.
(1) finish (2) finished
(3) will have finished (4) had finished

Still waters run deep. (Find out the Adjective)

(1) Suill (2) Run

(3) Deep (4) Waters
Identify the part of speech of the underlined word.
“Virtue is its own reward.”

(1) Verb (2) Adjective

(3) Noun (4) Adverb

Combine the following sentence using the present participle :
Veena saw the lizard. She was frightened.

(1) Seeing Veena the lizard was frightened.

(2) Seecing the lizard Veena was frightened.

(3) Being seen the lizard Veena was frightened.

(4) Having seen the lizard Veena was frightened.

Keerthi said, “Shall | switch on the fan 7"

(Change it into indirect speech)

(1) Keerthi asked whether she shall switch on the fan.

(2) Keerthi asked whether she should switch on the fan.

(3) Keerthi asked whether she should have switched on the fan.
(4) None of these

The Judge found him guilty of murder.
(Change it into Passive Voice)

(1) Heis found guilty of murder.

(2) He has been found guilty of murder.
(3) He had been found guilty of murder.
(4) He was found guilty of murder.

Correct the underlined part in the following sentence :

The cnminal was hung two days ago.

(1) hanged (2) has been hanged
(3) had been hanged (4) is hanged
Robinhood with all his followers been captured.

(1) have (2) |has

(3) had (4) are
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